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QUESTION 1

An administrator wants to use VMware Unified Access Gateway (UAG) appliance to enable devices to connect to
internal resources without needing the Workspace ONE UEM SDK. Which method can the administrator use to deploy
the UAG appliance?

A. Manual install to a Linux Server

B. PowerShell install to a Windows Server

C. Manual install to a Windows Server

D. PowerShell install to vSphere

Correct Answer: D

Reference: https://docs.vmware.com/en/Unified-Access-Gateway/3.5/uag-35-deploy-config-guide.pdf

QUESTION 2

When using a third party load balancer to provide the tunnel service on the Unified Access Gateway (UAG), what should
the SSL setting be on the load balancer?

A. SSL Re-encryption
B. SSL Encryption

C. SSL Offloading

D. SSL Passthrough

Correct Answer: B

QUESTION 3

A Workspace ONE administrator is configuring email for an organization that uses Microsoft Exchange Online (Office
365). The organization has an extreme security posture and wants to require all email attachments be encrypted. Which
is needed to meet the organization\\'s requirement?

A. Boxer with DLP enabled

B. PowerShell integration with default blacklist

C. Native Mail configuration with device pin based encryption

D. SEGv2 with content transforms

Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-Workspace-ONE-UEM/1909/WS1_MEM_Doc.pdf
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QUESTION 4

When using Workspace ONE 20.01 and higher, which three ways can an administrator using UEM automatically move
devices into specified organization groups? (Choose three.)

A. device ownership mappings
B. user group mappings

C. location based mappings
D. device type mappings

E. IP-based mappings

Correct Answer: ABC

QUESTION 5

When integrating Workspace ONE SDK with a productivity app, which three are required for SDK app deployment?
(Choose three.)

A. Targeted devices need to be enterprise wiped.

B. App needs to be pushed and managed.

C. App needs to be sideloaded.

D. SDK Profile needs to be assigned.

E. Targeted devices need to be enrolled and managed by UEM.
Correct Answer: BDE

Reference: https://techzone.vmware.com/resource/vmware-workspace-one-mobile-application-
management#sec3-sub5
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